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a4t gv7 SfFard &1 I&AF 5T &
¥F g & ard 73 13 8

G B &



1241

1. (a)

(b)

(a)

2

Suppose Q = 10p — 40 be the supply function.
Find out price elasticity of supply at price of
Rs. 12,

" fF Q=10p-40 A we= &1 12 %o =]
Fid W gfd &t "/ A Frewfey | 7-5
When your monthly income (Y) is Rs. 3,000,
your demand (Q) is for 10 units of ice cream. If
your monthly income increases (Y;) to Rs. 6,000,
your demand increases (Q;) to 30 units of ice
cream. What will be Y elasticity of demand for ice
cream? i /

S HGH WEF A (Y) 3000 Fo ¥ q9 YSH
"N (Q) ABFEHW & 10 FEEA W 2
HYH  HIEF 9 agH - (Y;) 6000 To &
STt R e @ utn agER (Q,) 30 IHE
& Wit R emgEmW & fow utn @ @ o
Bt ? 7-5

Or (219an)

Find arc elasticity of supply if price of wheat rises
from Rs. 20 to Rs. 40 per kg and supply increases
from 10 kg to 15 kg in a month.

afe A = Fwa 20 To ufa feal A TII 40
Fo @ S R s emyfd ww wéY ¥ 10 fRo A
WlSﬁoﬁaﬁﬁ%amaﬂwm
feriferT | 7.5
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(b) Suppose, when price of coffee is Rs. 5 per cup

then demand for tea is 50 cups. If price of coffee
rises to Rs. 7 per cup, then demand for tea goes
up to 100 cups. What will be the cross elasticity of
demand for tea?

wifre i o F @ FEa 5 Fo ufa 9 A
& §hT 50 FY @ 21 Al HE W OFE@
aFHL 7 Fo WA FU & W ¢ A A H AT 100
U A W@ 2 W @ W @ sl

41 Qi ? %5

2. What is price consumption curve? Derive a demand
curve from it for normal good and Giffen gqod.

Foa YN 9% @ 82 W A g ffes W
F foro gE@ winm % Feefan ) 15

Or (39

Why is an indifference curve convex to the origin?
Explain consumer’s equilibrium with the help of
indifference curve. -

FerdTaT @5 ST @ 3T Iaw w Arar @ 2 I
% 3 Teraar ¥ IUNIH & "o S §HERel 15

3. Write notes on the following:

(a) Ridge lines

PUTIL:
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(b) Economies and diseconomies of scale.
1 | e fafaw
(a) fwt Yard |
(b) WY i fydeafaar qun sfyaeafaar | 7.547.5
Or (21gan) -
. (a) Explain Long-run Average Cost (LAC) curve is an

(®)

4

enveloping curve.
qaEsY s i srafy sitad @i, (LAC) a% w
ST 5% Bl ¢ | 7-5

Calculate MC, TFC, AFC, AC and AVC at edch

level of output from the following table given
below:

| Output 0 1 2 3 4

TC (Rs.) | 100 160 212 280 356

fr @ife & 3ae & S@% WX W MC, TFC,
AFC, AC @91 AVC i TvFr sifse

ERICC] 0 1 2 3 4

rcese) | 100 | 160 | 212 | 280 | 356

7-5

4. Explain short run equilibrium of a firm under perfect
competition and monopoly.

5 1241

wyER 3R qf sfedfrar & erwfa s wd @
Feqhifersh Hqe TALET | 15

Or (31ga)

Explain the equilibrium of a firm under monopolistic
competition in the short run and long run.

TEHIfaER Sfdifiia & wrfa W & sreqafas adn
efemifas a<gad wl TWesT | , 15

5. (a) Write a short note on Prisoner’s Dilemma.

¢t gfaw (Prisoner’s Dilemma) W T& Wiy
@ fafaw 7-5

(b) Explain diagrammatically:

Economic Rent = Actual Earnings — Transfer

Earnings
tEfaa afgd auaEe
e ffua = anafas IUSH - gEdraR
IqTSH | 8
Or (21gan)

(a) Differentiate between cooperative and non-

cooperative behaviour of oligopolists.

FEMEFR F Wewrdt i -wewrd =aen o
I Ffe | 7-5
P.T.O.
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(b) Write ;l;o;t note on backward bending Sﬁpply F - “7 Ch,“ ; 1241
curve of labour. or Visually Challenge
qq % Bil‘i[ﬁf aF ¥ qvEad w dnee Candidates only

feuft fafay | : 7.5

' Attempt any five questions.
All questions carry equal marks.

fa=al uiar yvat & IR T |
ot Fe F % TA & |
1. What is Demand? Explain the elasticity of demand.
wit o 8 2 W R A B W |

2. What are the factors affecting demand of the product?

Jeqre & HiT A YA FO A FHE T K 2

3. What is indifference curve? Explain the assumptions
of indifference curve.

Serdiaar A% 91 &2 IQEAA Wh w1 AREde @
YO |

4. What do you mean by consumer equilibrium with
reference to indifference curve? :

Serdial 9% % wed § U & W{ed ¥ 9 F
wwEd €2

5. Explain economies and diseconomies of scale.

P, T
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Sy = freeafaard o swfiqeafaan W |

. What is law of variable proportion and why is it

applicable in short run only?

qfadasia eua & fam Fn 2 ol @@ wEw
srearafy ¥ @ @] g ] 2

. Explain the difference between Perfect Competition

and Monopoly.
qof sferaifimar o uefasR § SRR EHeEt |

Explain the difference between Product Differ-
entiation and Price Discrimination.

e fANSH tE HiHd deuE ® SR WHeET |

. What is the difference between Monopoly and

Monopolistic Competition?

THITUER e T asRTaTs Sfaaiimar 3§ 3 o ] ?

10. What are the characteristics of Oligopoly and how

does it differ from Duopoly?

sSENfusR F faswerd @21 €2 9% SAfueR §
fimr 22
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